
MFE-100-V01

EXIT My First  Multiplay

6

24

Warning. Not suitable
for children under 24 

months.MAX:25kg

2x

TOTAL:50kg



         

1MFE-100-V01

EXIT My First Multiplay

6

24

6

24



         

2MFE-100-V01

EXIT My First Multiplay

21

6

3

4 5

7 8 9

10 11 12

13 14

69.48.22.01 2x 69.48.22.02 1x 69.48.22.03 1x

69.48.22.04 3x 69.48.22.05 2x 69.48.22.06 2x

69.48.22.07 2x 69.48.22.08 1x 69.48.22.09 2x

69.48.22.10 1x 69.48.22.11 1x 69.48.22.12 1x

69.48.22.13 1x 69.48.22.15 2x

69.48.22.90 1x

15 16 17 18

19 20 21 22

23 24

M8x21 sleeve nut 6x Ø8 4x M8x24 sleeve nut 10x M6X12 12x

Ø8 16x M6X40 2x M6 2x Tool 1x

Tool 1x Tool 1x
PET

1
PAP

20

* XX.XX.XX.XX

XXXXXXXXXxxx

1

3

6

7

23

*

25

69.48.22.11-L 1x



         

3MFE-100-V01

3

1

1

2

7

7

6

4

6

3X

X617 X618 X619
M8x24 Sleeve nut M6x12 8

22 23

X215 X218 X219
M8x21 Sleeve nut M6x12 8

22 23

1

7

15

1918

7

6

17

19

18

17

18

19



         

4MFE-100-V01

EXIT My First Multiplay

9 9



         

5MFE-100-V01

142X



         

6MFE-100-V01

EXIT My First Multiplay

12

4x

15 16
M8x21 Sleeve nut

X4 X4 X4

8 8

19

22 23

12

15 19 16



         

7MFE-100-V01

52X

X417 X418 X419
M8x24 Sleeve nut M6x12 8

22 23

17

18
19



         

8MFE-100-V01

EXIT My First Multiplay

10

4x



         

9MFE-100-V01

25

11

8

16x

2x

8

M6x40

X220
M6

X221

22 24

20

23



         

10MFE-100-V01

EXIT My First Multiplay

back

13

6x




